



# Dr. M.G.R

## EDUCATIONAL AND RESEARCH INSTITUTE

(Deemed to be University with Graded Autonomy Status)

Accredited by NAAC with 'A' Grade | An ISO Certified Institution

Maduravoyal, Chennai - 600 095, Tamilnadu, INDIA

<b>TOPIC</b>	: DIFFERENTIATION
<b>SUBJECT CODE</b>	: BMA18001
<b>SUBJECT NAME</b>	: MATHEMATICS I
<b>DELIVERED BY</b>	: MRS G. ANNALAKSHMI
<b>DEPARTMENT</b>	: MATHEMATICS



## DIFFERENTIATION

### BASIC CONCEPTS OF DIFFERTIATION

Consider a function  $y=f(x)$  of a variable  $x$ . Suppose  $x$  changes from an initial value  $x_0$  to a final value  $x_1$ . Then the increment in  $x$  defined to be the amount of change in  $x$ . It is denoted by  $\Delta x$ . The increment in  $y$  namely  $\Delta y$  depends on the values of  $x_0$  and  $\Delta x$ .

If the increment  $\Delta y$  is divided by  $\Delta x$  the quotient  $\frac{\Delta y}{\Delta x}$  is called the average rate of change of  $y$  with respect to  $x$ , as  $x$  changes from  $x_0$  to  $x_0 + \Delta x$ . The quotient is given by 
$$\frac{\Delta y}{\Delta x} = \frac{f(x_0 + \Delta x) - f(x_0)}{\Delta x}$$

This fraction is also called a difference quotient.

### Differentiation using standard formulae

- Define differentiation.

**Solution:**

The rate of change of one variable quantity with respect to another variable quantity is called Differentiation.

(i.e) If  $y$  is a function of  $x$ , then the rate of change of  $y$  with respect to  $x$  is called the differential co-efficient of  $y$ . It is denoted by  $dy/dx$  (or)  $d(f(x))/dx$  (or)  $f'(x)$  (or)  $Df(x)$

- Find  $\frac{dy}{dx}$  if  $y=3\sin x + 4\cos x - e^x$ .

**Solution:**

$$\frac{dy}{dx} = 3\cos x - 4\sin x - e^x$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$  if  $y=e^x + 3\tan x + \log x^6$ .

**Solution:** Given  $y=e^x + 3\tan x + 6\log x$

$$\frac{dy}{dx} = e^x + 3\sec^2 x + \frac{6}{x}$$

\*\*\*\*\*

- If  $y=x^3 - 6x^2 + 7x + 6 + \cos x + \frac{1}{x\sqrt{x}}$ , find  $\frac{dy}{dx}$ .

**Solution:**

Given  $y = x^3 - 6x^2 + 7x + 6 + \cos x + x^{-\frac{3}{2}}$

$$\frac{dy}{dx} = 3x^2 - 12x + 7 - \sin x + \left(\frac{-3}{2}\right)x^{-\frac{3}{2}-1} = 2x - \sin x + \frac{-3}{2x^{\frac{5}{2}}}$$

\*\*\*\*\*

- If  $y = \frac{3}{\sqrt{x}} + 3x^4 - \frac{1}{\sqrt[3]{x}}$ , find  $\frac{dy}{dx}$ .

**Solution:** Given  $y = \frac{3}{\sqrt{x}} + 3x^4 - \frac{1}{\sqrt[3]{x}}$

$$\begin{aligned} \frac{dy}{dx} &= 3\left(\frac{-1}{2}\right)x^{-\frac{1}{2}} + 12x^3 - \left(\frac{-1}{3}\right)x^{-\frac{4}{3}} \\ &= \frac{-3}{2x^{\frac{3}{2}}} + 12x^3 + \frac{1}{3x^{\frac{4}{3}}} \end{aligned}$$

\*\*\*\*\*

- Find the derivative of  $y = e^{7x} + \sin 3x + e^{5x+3}$ .

**Solution:**

$$\frac{dy}{dx} = \frac{d}{dx} (e^{7x} + \sin 3x + e^{5x+3}) = 7e^{7x} + 3\cos 3x + 5e^{5x+3}$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$  if  $y = \log_7 x$ .

**Solution:** we know that, if  $y = \log_a x$  then  $\frac{dy}{dx} = \frac{1}{x} \log_a e$

$$\frac{dy}{dx} = \frac{1}{x} \log_7 e$$

\*\*\*\*\*

**Chain Rule (or) Differential coefficient of a function of function**

If  $u=f(x), y=f(u)$  then  $\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx}$

- Find  $\frac{dy}{dx}$ , if  $y = x + \frac{1}{x} + \left(x + \frac{1}{x}\right)^3$ . (L1)

**Solution:**

$$\begin{aligned} \frac{dy}{dx} &= 1 + (-1)x^{-2} + 3\left(x + \frac{1}{x}\right)^2 \frac{d}{dx} \left(x + \frac{1}{x}\right) \\ &= 1 - \frac{1}{x^2} + 3\left(x + \frac{1}{x}\right)^2 \left(1 - \frac{1}{x^2}\right) \end{aligned}$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$ , if  $y = \log_e(2x+3)$ .

**Solution:**

$$\begin{aligned}\frac{dy}{dx} &= \frac{1}{(2x+3)} \frac{d}{dx}(2x+3) \\ &= \frac{1}{(2x+3)} (2) = \frac{2}{(2x+3)}\end{aligned}$$

\*\*\*\*\*

- Differentiate  $y = \cos(x+y)$ .

**Solution:**

Given,  $y = \cos(x+y)$

*Differentiating both sides w.r.to x*

$$\frac{dy}{dx} = -\sin(x+y) \left(1 + \frac{dy}{dx}\right)$$

$$= -\sin(x+y) - \frac{dy}{dx}(\sin(x+y))$$

$$\frac{dy}{dx}(1 + \sin(x+y)) = -\sin(x+y)$$

$$\Rightarrow \frac{dy}{dx} = \frac{-\sin(x+y)}{(1 + \sin(x+y))}$$

\*\*\*\*\*

- Differentiate  $y = \log(\sin^2 x)$ .

**Solution:**

Given  $y = \log(\sin^2 x)$

Let  $u = \sin^2 x \Rightarrow \frac{du}{dx} = 2 \sin x \cos x$

$$\therefore y = \log u \Rightarrow \frac{dy}{du} = \frac{1}{u}$$

$$\frac{dy}{dx} = \frac{dy}{du} \cdot \frac{du}{dx} = \frac{1}{u} \cdot 2 \sin x \cos x = \frac{1}{\sin^2 x} \cdot 2 \sin x \cos x = 2 \frac{\cos x}{\sin x} = 2 \cot x$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$  if  $Y = \sec(ax+b)$ .

**Solution:**

Let  $y = \sec(ax+b)$

$$\frac{dy}{dx} = a \sec(ax+b) \tan(ax+b)$$

\*\*\*\*\*

- Differentiate  $y = \sqrt{2x+3} + e^{\sqrt{\tan x}}$ .

**Solution:**

$$\begin{aligned}y &= e^{(\tan x)^{1/2}} \\ \frac{dy}{dx} &= \frac{1}{2}(2x+3)^{-1/2}(2) + e^{(\tan x)^{1/2}} \frac{d}{dx}(\tan x)^{1/2} \\ &= \frac{1}{\sqrt{2x+3}} + e^{\sqrt{\tan x}} \frac{1}{2}(\tan x)^{-1/2} \frac{d}{dx}(\tan x) \\ &= \frac{1}{\sqrt{2x+3}} + \frac{e^{\sqrt{\tan x}}}{2\sqrt{\tan x}} \sec^2 x\end{aligned}$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$ , given  $y = \sqrt[3]{x^3 + x + 1}$ .

**Solution:**

Given  $y = \sqrt[3]{x^3 + x + 1}$

$$\frac{dy}{dx} = \frac{1}{3}[x^3 + x + 1]^{\frac{1}{3}-1} \cdot \frac{d[x^3 + x + 1]}{dx}$$

$$\frac{dy}{dx} = \frac{1}{3}[x^3 + x + 1]^{\frac{1}{3}-1} \cdot (3x^2 + 1)$$

$$= \frac{3x^2 + 1}{3[x^3 + x + 1]^{\frac{2}{3}}}$$

\*\*\*\*\*

- Differentiate  $y = \log(\cos^5(3x^4))$  with respect to 'x'.

**Solution:**

Given  $y = \log(\cos^5(3x^4))$

Differentiate both sides with respect to x,

$$\begin{aligned}
\frac{dy}{dx} &= \frac{d}{dx} \{ \log(\cos^5(3x^4)) \} \\
&= \frac{1}{(\cos^5(3x^4))} \cdot \frac{d}{dx} \{ (\cos^5(3x^4)) \} \\
&= \frac{1}{(\cos^5(3x^4))} \frac{d}{dx} \{ (\cos(3x^4))^5 \} \\
&= \frac{1}{(\cos^5(3x^4))} 5(\cos(3x^4))^4 \frac{d}{dx} \{ \cos(3x^4) \} \\
&= \frac{5 \cos^4(3x^4)}{(\cos^5(3x^4))} (-\sin(3x^4)) \frac{d}{dx} \{ (3x^4) \} \\
&= \frac{5}{\cos 3x^4} (-\sin(3x^4)) \{ 12 x^3 \} \\
&= (-60 x^3) \frac{\sin(3x^4)}{\cos(3x^4)} \\
&= -60 x^3 \tan 3x^4
\end{aligned}$$

\*\*\*\*\*

- Differentiate  $y = (4x + x^{-5})^{\frac{1}{3}}$ , with respect to 'x'. Hence show that

$$\frac{dy}{dx} = \frac{4x^6 - 5}{3x^3(4x^6 + 1)^{\frac{2}{3}}}$$

**Solution:**

$$\begin{aligned}
\text{Given } y &= (4x + x^{-5})^{\frac{1}{3}} \\
\therefore \frac{dy}{dx} &= \left(\frac{1}{3}\right) (4x + x^{-5})^{\frac{1}{3}-1} \frac{d}{dx} (4x + x^{-5}) \\
&= \left(\frac{1}{3}\right) (4x + x^{-5})^{\frac{-2}{3}} (4 - 5x^{-6}) \\
&= \left(\frac{1}{3}\right) \left(4x + \frac{1}{x^5}\right)^{\frac{-2}{3}} \left(4 - \frac{5}{x^6}\right) \\
&= \left(\frac{1}{3}\right) \left(\frac{4x^6 + 1}{x^5}\right)^{\frac{-2}{3}} \left(\frac{4x^6 - 5}{x^6}\right) \\
&= \left(\frac{1}{3}\right) \left(\frac{x^5}{4x^6 + 1}\right)^{\frac{2}{3}} \left(\frac{4x^6 - 5}{x^6}\right)
\end{aligned}$$

$$\begin{aligned}
&= \left(\frac{1}{3}\right) \frac{x^{\frac{10}{3}}}{(4x^6 + 1)^{\frac{2}{3}}} \left(\frac{4x^6 - 5}{x^6}\right) \\
&= \frac{x^{\frac{10}{3}-6}}{3(4x^6 + 1)^{\frac{2}{3}}} (4x^6 - 5) \\
&= \frac{x^{\frac{-8}{3}}(4x^6 - 5)}{3(4x^6 + 1)^{\frac{2}{3}}} \\
&= \frac{4x^6 - 5}{3x^{\frac{8}{3}}(4x^6 + 1)^{\frac{2}{3}}}
\end{aligned}$$

Thus proved.

\*\*\*\*\*

- Find  $\frac{dy}{dx}$  if  $y = \log \left[ \frac{1+\sin x}{1-\sin x} \right]$

Solution:

$$\text{Given } y = \log \left[ \frac{1 + \sin x}{1 - \sin x} \right]$$

$$\frac{dy}{dx} = \frac{1}{\frac{1 + \sin x}{1 - \sin x}} \left\{ \frac{d}{dx} \left[ \frac{1 + \sin x}{1 - \sin x} \right] \right\}$$

$$\begin{aligned}
&= \left[ \frac{1 - \sin x}{1 + \sin x} \right] \left\{ \frac{(1 - \sin x)(\cos x) - (1 + \sin x)(-\cos x)}{(1 - \sin x)^2} \right\} \\
&= \left\{ \frac{\cos x - \sin x \cos x - (-\cos x - \sin x \cos x)}{(1 + \sin x)(1 - \sin x)} \right\} \\
&= \frac{2\cos x}{1 - \sin^2 x} = \frac{2\cos x}{\cos^2 x} = 2\sec x
\end{aligned}$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$  if  $y = \sqrt{1 - \sin^2 x}$ .

Solution:

$$\text{Given } y = \sqrt{1 - \sin^2 x}$$

$$y = (1 - \sin^2 x)^{1/2}$$

$$\frac{dy}{dx} = \frac{1}{2} (1 - \sin^2 x)^{\frac{1}{2}-1} \frac{d}{dx} (1 - \sin^2 x)$$

$$= \frac{1}{2}(1 - \sin^2 x)^{-\frac{1}{2}}(0 - 2\sin x \cos x)$$

$$= \frac{-\sin 2x}{2\sqrt{1 - \sin^2 x}}$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$  if  $y = \log \left[ \frac{(1+\sqrt{x})}{(1-\sqrt{x})} \right]$ .

**Solution:**

$$y = \log(1 + \sqrt{x}) - \log(1 - \sqrt{x})$$

$$\frac{dy}{dx} = \frac{1}{(1 + \sqrt{x})} \frac{d}{dx}(1 + \sqrt{x}) - \frac{1}{(1 - \sqrt{x})} \frac{d}{dx}(1 - \sqrt{x})$$

$$= \frac{1}{(1 + \sqrt{x})} \frac{1}{2\sqrt{x}} - \frac{1}{(1 - \sqrt{x})} \left( \frac{-1}{2\sqrt{x}} \right)$$

$$= \frac{1}{2\sqrt{x}} \left[ \frac{1}{(1 + \sqrt{x})} + \frac{1}{(1 - \sqrt{x})} \right]$$

$$= \frac{1}{2\sqrt{x}((1 - (\sqrt{x})^2))} = \frac{1}{\sqrt{x}(1 - x)}$$

\*\*\*\*\*

### Differentiation using product rule

Let u & v be differentiable functions of x. Then the product of a function

$Y = u(x).v(x)$  is differentiable.

$$d(uv) = udv + vdu$$

- If  $y = x^2 \sin x$ , find  $\frac{dy}{dx}$ .

**Solution:** By product rule,

$$\frac{dy}{dx} = x^2 \frac{d}{dx}(\sin x) + \sin x \frac{d}{dx}(x^2)$$

$$\frac{dy}{dx} = x^2 \cos x + 2x \sin x$$

$$= x(x \cos x + 2 \sin x).$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$  if  $y = e^x \tan x$ .

**Solution:** Let  $y = e^x \tan x$



By product rule,  $\frac{dy}{dx} = e^x \frac{d}{dx}(\tan x) + \tan x \frac{d}{dx}(e^x)$

$$\frac{dy}{dx} = e^x \sec^2 x + e^x \tan x$$

$$= e^x(\sec^2 x + \tan x)$$

\*\*\*\*\*

- If  $y = 3x^4 e^x$ , find  $\frac{dy}{dx}$ .

Solution:

By product rule,  $\frac{dy}{dx} = 3 \left( e^x \frac{d}{dx}(x^4) + x^4 \frac{d}{dx}(e^x) \right)$

$$\frac{dy}{dx} = 3(x^4 e^x + 4x^3 e^x)$$

$$= 3x^3 e^x(x + 4)$$

\*\*\*\*\*

- If  $y = \cos x e^x$ , find  $\frac{dy}{dx}$ .

Solution:

By product rule,  $\frac{dy}{dx} = e^x \frac{d}{dx}(\cos x) + \cos x \frac{d}{dx}(e^x)$

$$\frac{dy}{dx} = e^x(-\sin x) + e^x \cos x = e^x(\cos x - \sin x)$$

\*\*\*\*\*

- If  $y = x \log_e x$ , find  $\frac{dy}{dx}$ .

Solution:

By product rule,  $\frac{dy}{dx} = x \frac{d}{dx}(\log_e x) + \log_e x \frac{d}{dx}(x)$

$$\frac{dy}{dx} = x \frac{1}{x} + \log_e x$$

$$= 1 + \log_e x$$

\*\*\*\*\*

- Differentiate  $Y = (x^2 - 2)(3x + 1)$ . (L4)

Solution:

Let  $y = (x^2 - 2)(3x + 1)$ .

$$\frac{dy}{dx} = (x^2 - 2)3 + (3x + 1)(2x)$$

$$\begin{aligned}
&= 3(x^2 - 2) + 2x(3x + 1) \\
&= 3x^2 - 6 + 6x^2 + 2x \\
&= 9x^2 + 2x - 6
\end{aligned}$$

\*\*\*\*\*

- If  $y = \operatorname{cosec} x \cot x$ , find  $\frac{dy}{dx}$ .

**Solution:**

By product rule,  $\frac{dy}{dx} = \operatorname{cosec} x \frac{d}{dx}(\cot x) + \cot x \frac{d}{dx}(\operatorname{cosec} x)$

$$\frac{dy}{dx} = \operatorname{cosec} x(-\operatorname{cosec}^2 x) + \cot x(-\operatorname{cosec} x \cot x)$$

$$= -\operatorname{cosec} x (\operatorname{cosec}^2 x + \cot^2 x)$$

\*\*\*\*\*

- If  $y = (x^2 + 7x + 2)(e^x - \log x)$ , find  $\frac{dy}{dx}$ .

**Solution:**

By product rule,

$$\frac{dy}{dx} = (x^2 + 7x + 2) \frac{d}{dx}(e^x - \log x) + (e^x - \log x) \frac{d}{dx}(x^2 + 7x + 2)$$

$$= (x^2 + 7x + 2)(e^x - \frac{1}{x}) + (e^x - \log x)(2x + 7),$$

\*\*\*\*\*

- If  $y = (6 \sin x \log_{10} x)$ , find  $\frac{dy}{dx}$ .

**Solution:**

By product rule,  $\frac{dy}{dx} = 6 \left\{ \sin x \frac{d}{dx}(\log_{10} x) + \log_{10} x \frac{d}{dx}(\sin x) \right\}$

$$= 6 \left\{ \sin x \left(\frac{1}{x}\right) \log_{10} e + \log_{10} x (\cos x) \right\}$$

\*\*\*\*\*

- If  $y = (e^x \log x \cot x)$ , find  $\frac{dy}{dx}$ .

**Solution:**

By product rule,

$$\frac{dy}{dx} = e^x \log x \frac{d}{dx}(\cot x) + e^x \cot x \frac{d}{dx}(\log x) + \log x \cot x \frac{d}{dx}(e^x)$$

$$= e^x \log x(-\operatorname{cosec}^2 x) + e^x \cot x \left(\frac{1}{x}\right) \log x \cot x e^x.$$

\*\*\*\*\*

- Differentiate  $\sin^2 x \cos 3x$ .

**Solution:**

$$\text{Let } y = \sin^2 x \cos 3x$$

$$\begin{aligned} \frac{dy}{dx} &= \sin^2 x \frac{d}{dx}(\cos 3x) + \cos 3x \frac{d}{dx}(\sin^2 x) \\ &= \sin^2 x (-\sin 3x) \cdot 3 + \cos 3x [2 \sin x \cdot \frac{d}{dx}(\sin x)] \\ &= -3 \sin^2 x \sin 3x + \cos 3x [2 \sin x \cos x] \\ &= \sin x [-3 \sin x \sin 3x + 2 \cos x \cos 3x] \end{aligned}$$

\*\*\*\*\*

- Differentiate  $e^{4x} \sin 4x$ .

**Solution:**

$$\text{Let } y = e^{4x} \sin 4x$$

$$\begin{aligned} \frac{dy}{dx} &= e^{4x} \frac{d}{dx}(\sin 4x) + \sin 4x \frac{d}{dx}(e^{4x}) \\ &= e^{4x} [\cos 4x] \frac{d}{dx}(4x) + \sin 4x [e^{4x} \cdot \frac{d}{dx}(4x)] \\ &= e^{4x} [\cos 4x](4) + \sin 4x [e^{4x} \cdot 4] \\ &= 4e^{4x} [\cos 4x + \sin 4x] \end{aligned}$$

\*\*\*\*\*

### **Quotient Rule for Differentiation**

Let  $u$  &  $v$  be differentiable functions of  $x$ , then  $\frac{u}{v}$  is also differentiable

$$d\left(\frac{u}{v}\right) = \frac{vu' - uv'}{v^2}$$

- Find  $y'$ , if  $y = \frac{x^2}{1+x^2}$ .

**Solution:**

$$\begin{aligned} \text{By quotient rule, } \frac{dy}{dx} &= \frac{(1+x^2) \frac{d}{dx}(x^2) - x^2 \frac{d}{dx}(1+x^2)}{(1+x^2)^2} \\ \frac{dy}{dx} = y' &= \frac{(1+x^2)(2x) - x^2(2x)}{(1+x^2)^2} = \frac{1}{(1+x^2)^2} \end{aligned}$$

\*\*\*\*\*

- Find  $y'$ , if  $y = \frac{x^2-1}{1+x^2}$ .

**Solution:**

By quotient rule,

$$\frac{dy}{dx} = \frac{(1+x^2) \frac{d}{dx}(x^2-1) - (x^2-1) \frac{d}{dx}(1+x^2)}{(1+x^2)^2}$$

$$\frac{dy}{dx} = y' = \frac{(1+x^2)(2x) - (x^2-1)(2x)}{(1+x^2)^2} = \frac{4x}{(1+x^2)^2}$$

\*\*\*\*\*

- Find  $y'$ , if  $y = \frac{2x-3}{4x+5}$ .

**Solution:**

By quotient rule,

$$\frac{dy}{dx} = \frac{(4x+5) \frac{d}{dx}(2x-3) - (2x-3) \frac{d}{dx}(4x+5)}{(4x+5)^2}$$

$$\frac{dy}{dx} = y' = \frac{(4x+5)(2) - (2x-3)4}{(4x+5)^2}$$

$$= \frac{8x+10-8x+12}{(4x+5)^2}$$

$$= \frac{22}{(4x+5)^2}$$

- Find  $y'$ , if  $y = \frac{\log x}{\sin x}$ .

**Solution:**

By quotient rule

$$\frac{dy}{dx} = \frac{(\sin x) \frac{d}{dx}(\log x) - (\log x) \frac{d}{dx}(\sin x)}{(\sin x)^2}$$

$$\frac{dy}{dx} = y' = \frac{\sin x \left(\frac{1}{x}\right) - \log x(\cos x)}{(\sin x)^2}$$

$$= \frac{\sin x - x \cos x \log x}{x \sin^2 x}$$

\*\*\*\*\*

- Find  $y'$ , if  $y = \frac{\log x^2}{e^x}$ .

Solution:

$$y = \frac{2\log x}{e^x}$$

By quotient rule,

$$\frac{dy}{dx} = \frac{(e^x) \frac{d}{dx}(2\log x) - (2\log x) \frac{d}{dx}(e^x)}{(e^x)^2}$$

$$\begin{aligned} \frac{dy}{dx} = y' &= \frac{e^x \left(2 \frac{1}{x}\right) - 2\log x(e^x)}{(e^x)^2} = \frac{2e^x - x(2\log x(e^x))}{x(e^x)^2} \\ &= \frac{2e^x(1 - x\log x)}{xe^{2x}} \end{aligned}$$

\*\*\*\*\*

- Find  $y'$ , if  $y = \frac{x^2 + e^x}{(\cos x + \log x)}$ .

Solution:

By quotient rule,

$$\frac{dy}{dx} = \frac{(\cos x + \log x) \frac{d}{dx}(x^2 + e^x) - (x^2 + e^x) \frac{d}{dx}(\cos x + \log x)}{(\cos x + \log x)^2}$$

$$\frac{dy}{dx} = y' = \frac{(\cos x + \log x)(2x + e^x) + (x^2 + e^x) \left(-\sin x + \frac{1}{x}\right)}{(\cos x + \log x)^2}$$

\*\*\*\*\*

- Find  $y'$ , if  $y = \frac{\sin x + \cos x}{\sin x - \cos x}$ .

Solution:

By quotient rule,

$$\frac{dy}{dx} = \frac{(\sin x - \cos x) \frac{d}{dx}(\sin x + \cos x) - (\sin x + \cos x) \frac{d}{dx}(\sin x - \cos x)}{(\sin x - \cos x)^2}$$

$$\begin{aligned}\frac{dy}{dx} = y' &= \frac{(\sin x - \cos x)(\cos x - \sin x) - (\sin x + \cos x)(\cos x + \sin x)}{(\sin x - \cos x)^2} \\ &= \frac{-(\sin x - \cos x)^2 - (\sin x + \cos x)^2}{(\sin x - \cos x)^2}\end{aligned}$$

\*\*\*\*\*

- Differentiate  $y = \frac{(x^7 - 4^7)}{(x - 4)}$ .

**Solution:**

By quotient rule,

$$\frac{dy}{dx} = \frac{(x - 4) \frac{d}{dx}(x^7 - 4^7) - (x^7 - 4^7) \frac{d}{dx}(x - 4)}{(x - 4)^2}$$

$$\begin{aligned}\frac{dy}{dx} = y' &= \frac{(x - 4)(7x^6) - (x^7 - 4^7)(1)}{(x - 4)^2} \\ &= \frac{7x^7 - 28x^6 - x^7 + 4^7}{(x - 4)^2} = \frac{(6x^7 - 28x^6 + 4^7)}{(x - 4)^2}\end{aligned}$$

\*\*\*\*\*

- Differentiate  $Y = \frac{(x+1)}{(x^2+1)}$ .

**Solution:**

$$\begin{aligned}y &= \frac{(x + 1)}{(x^2 + 1)} \\ \frac{dy}{dx} &= \frac{(x^2 + 1) - (x + 1)2x}{(x^2 + 1)^2} \\ &= \frac{x^2 + 1 - 2x^2 - 2x}{(x^2 + 1)^2} = \frac{-x^2 - 2x + 1}{(x^2 + 1)^2}\end{aligned}$$

\*\*\*\*\*

- Differentiate  $\frac{x^2 - x + 1}{x^2 + x + 1}$

**Solution:**

$$\text{Let } y = \frac{x^2 - x + 1}{x^2 + x + 1}$$

$$\begin{aligned} \frac{dy}{dx} &= \frac{(x^2 + x + 1)(2x - 1) - (x^2 - x + 1)(2x + 1)}{(x^2 + x + 1)^2} \\ &= \frac{(2x^3 - x^2 + 2x^2 - x + 2x - 1) - (2x^3 + x^2 - 2x^2 - x + 2x + 1)}{(x^2 + x + 1)^2} \\ &= \frac{2x^3 + x^2 + x - 1 - 2x^3 + x^2 - x - 1}{(x^2 + x + 1)^2} \\ &= \frac{2x^2 - 2}{(x^2 + x + 1)^2} = \frac{2(x^2 - 1)}{(x^2 + x + 1)^2} \end{aligned}$$

\*\*\*\*\*

- Differentiate  $\frac{\sec x}{\log x}$ .

**Solution:**

$$\begin{aligned} \text{Let } y &= \frac{\sec x}{\log x} \\ \frac{dy}{dx} &= \frac{\log x (\sec x \tan x) - \sec x \cdot \frac{1}{x}}{(\log x)^2} \\ &= \frac{x \log x \sec x \tan x - \sec x}{x(\log x)^2} \\ &= \frac{\sec x [x \tan x \log x - 1]}{x(\log x)^2} \end{aligned}$$

\*\*\*\*\*

- Find the derivative of  $\frac{e^x + e^{-x}}{e^x - e^{-x}}$ .

**Solution:**

$$\begin{aligned} \text{Let } y &= \frac{e^x + e^{-x}}{e^x - e^{-x}} \\ \frac{dy}{dx} &= \frac{(e^x - e^{-x})(e^x - e^{-x}) - (e^x + e^{-x})(e^x + e^{-x})}{(e^x - e^{-x})^2} \\ &= \frac{(e^x - e^{-x})^2 - (e^x + e^{-x})^2}{(e^x - e^{-x})^2} \\ &= \frac{(e^{2x} + e^{-2x} - 2) - (e^{2x} + e^{-2x} + 2)}{(e^x - e^{-x})^2} \\ &= \frac{(e^{2x} + e^{-2x} - 2 - e^{2x} - e^{-2x} - 2)}{(e^x - e^{-x})^2} = \frac{-4}{(e^x - e^{-x})^2} \end{aligned}$$

\*\*\*\*\*

- Differentiate  $y = \frac{te^{2t}}{2 \cos t}$  with respect to 't'.

**Solution:**

$$\text{Given } y = \frac{te^{2t}}{2 \cos t}$$

$$\text{Let } u = te^{2t}, \quad v = 2 \cos t$$

$$\frac{du}{dt} = (t)(2e^{2t}) + (e^{2t})(1) = 2te^{2t} + e^{2t}, \quad \frac{dv}{dt} = -2 \sin t$$

$$\begin{aligned} \therefore \frac{dy}{dt} &= \frac{vu' - uv'}{v^2} \\ &= \frac{(2 \cos t)[2te^{2t} + e^{2t}] - (te^{2t})(-2 \sin t)}{(2 \cos t)^2} \\ &= \frac{4t e^{2t} \cos t + 2e^{2t} \cos t + 2t e^{2t} \sin t}{4 \cos^2 t} \\ &= \frac{2e^{2t}[2t \cos t + \cos t + t \sin t]}{4 \cos^2 t} \\ \text{(i.e.) } \frac{dy}{dt} &= \frac{e^{2t}}{2 \cos^2 t} (2t \cos t + \cos t + t \sin t) \end{aligned}$$

\*\*\*\*\*

### Differentiation of Parametric functions

If x and y are expressed in terms of a third variable t, then the third variable is called the parameter, equation containing a parameter is known as parametric equation.

$$\text{(ie) If } x = f(t), y = g(t) \text{ then } \frac{dy}{dx} = \frac{\frac{dy}{dt}}{\frac{dx}{dt}}$$

- If  $x = \sqrt{t}, y = t + \frac{1}{t}$ , then find  $\frac{dy}{dx}$ .

**Solution:**

$$\frac{dy}{dx} = \frac{dy/dt}{dx/dt}$$

$$x = \sqrt{t} \quad \Rightarrow \quad \frac{dx}{dt} = \frac{1}{2\sqrt{t}}$$



$$y = t + \frac{1}{t} \Rightarrow \frac{dy}{dt} = 1 - \frac{1}{t^2}$$

$$\frac{dy}{dx} = \frac{(1 - \frac{1}{t^2})}{\frac{1}{2\sqrt{t}}} = \frac{2(t^2 - 1)\sqrt{t}}{t^2} = 2 \frac{(t^2 - 1)}{t^{\frac{3}{2}}}$$

\*\*\*\*\*

- If  $x = a(1 + \cos\theta)$ ;  $y = a(\theta + \sin\theta)$  then, find  $\frac{dy}{dx}$ .

Solution:

$$\frac{dx}{d\theta} = a(0 - \sin\theta) = -a \sin \theta$$

$$\frac{dy}{d\theta} = a(1 + \cos\theta)$$

$$\begin{aligned} \frac{dy}{dx} &= \frac{dy/d\theta}{dx/d\theta} = \frac{a(1 + \cos\theta)}{-a \sin \theta} \\ &= \frac{-\cos^2 \frac{\theta}{2}}{\sin \frac{\theta}{2} \cos \frac{\theta}{2}} \\ &= -\cot \frac{\theta}{2} \end{aligned}$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$ , if  $x = a(t - \sin t)$ ,  $y = a(1 - \cos t)$ .

Solution:

$$\text{Given } x = a(t - \sin t), \quad y = a(1 - \cos t)$$

$$\frac{dx}{dt} = a(1 - \cos t) \quad , \quad \frac{dy}{dt} = a(0 + \sin t)$$

$$\therefore \frac{dy}{dx} = \frac{dy/dt}{dx/dt} = \frac{a(\sin t)}{a(1 - \cos t)} = \frac{\sin t}{1 - \cos t}$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$ , if  $x = ct, y = \frac{c}{t}$ .

**Solution:**

$$\begin{aligned} \text{Given } x &= ct, & y &= \frac{c}{t} \\ \frac{dx}{dt} &= c, & \frac{dy}{dt} &= \frac{c(-1)}{t^2} \\ \therefore \frac{dy}{dx} &= \frac{dy/dt}{dx/dt} = -\frac{c}{t^2} \times \frac{1}{c} = -\frac{1}{t^2} \end{aligned}$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$ , if  $x = acost, y = bsint$ .

**Solution:**

$$\begin{aligned} \text{Given } x &= acost, & y &= bsint \\ \frac{dx}{dt} &= -a \sin t, & \frac{dy}{dt} &= b \cos t \\ \therefore \frac{dy}{dx} &= \frac{dy/dt}{dx/dt} = \frac{b \cos t}{-a \sin t} = -\frac{b}{a} \cot t \end{aligned}$$

\*\*\*\*\*

- Find  $\frac{dy}{dx}$ , if  $x = a \cos^2 t, y = b \sin^2 t$ .

**Solution:**

$$\begin{aligned} \text{Given } x &= a \cos^2 t, & y &= b \sin^2 t \\ \frac{dx}{dt} &= a 2 \cos t (-\sin t), & \frac{dy}{dt} &= 2 b \sin t \cos t \\ \therefore \frac{dy}{dx} &= \frac{dy/dt}{dx/dt} = \frac{2 b \sin t \cos t}{-2 a \cos t \sin t} = -\frac{b}{a} \end{aligned}$$